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1. a.
2 ¥4 %4284 8 E » 3% PRI PPP (purchasing power parity) 23 » i
B & 18 & 8214 7 (10%)
b. The amounts of apples and pears that George and Mary can pick in one day are shown in the
following table. What job does Mary has a comparative advantage and why? (10%)

George Mary
Devote all time to Devote all time to Devote all time to Devote all time to
picking apples picking pears picking apples picking pears
Apples | 20 pounds 0 pounds 30 pounds 0 pounds
Pears 0 pounds 20 pounds 0 pounds 40 pounds
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3. #E &4 Ak B4 (the productive efficiency condition) & &t & 2L & #& 1+ (the allocative
efficiency condition) (5%, 5%) 35 A2 #4515 1L 3% ¥ T 3% (monopolistic competition) & & 76 i&
REEA ? BFAEBERERFRANTATHEETAE 7 (10%)

4. “The 787 Dreamliner being developed by Boeing Co. was cited as an example of how firms can be
more efficient than the marketplace. Boeing, which previously designed and built planes in-house,
outsourced much of the Dreamliner’s manufacturing. But because it had less control over its supply
line, Boeing couldn’t adapt as quickly and flexibly to the changes and problems that invariably
arose within a project as complex as the Dreamliner. Boeing has since taken much of the
Dreamliner’s production back in-house.” -
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